
SAP ABAP table PMET2 {Field String for Feature: Tax D Output Month ETxC}

PMET2

ABKRS [CHAR (2)]

WERKS [CHAR (4)]

BTRTL [CHAR (4)]

PERSG [CHAR (1)]

PERSK [CHAR (2)]

T001P

MANDT [CLNT (3)]

WERKS [CHAR (4)]

BTRTL [CHAR (4)]
 PMET2-BTRTL = T001P-BTRTL 0..N

0..N

T500P

MANDT [CLNT (3)]

PERSA [CHAR (4)] PMET2-WERKS = T500P-PERSA 0..N

0..N
T501

MANDT [CLNT (3)]

PERSG [CHAR (1)]

 PMET2-PERSG = T501-PERSG 
0..N0..N

T503K

MANDT [CLNT (3)]

PERSK [CHAR (2)]

 PMET2-PERSK = T503K-PERSK 

0..N

0..N

T549A

MANDT [CLNT (3)]

ABKRS [CHAR (2)]

 PMET2-ABKRS = T549A-ABKRS 

0..N

0..N


